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= First, confirm the correct size of this image.
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One standard credit card should fit exactly in this square.
If it does not fit, check that your are printing the image
at full size, and that your printer is not scaling the image.

Option 1: . D]
Measure with a sizer 70615 MB RIS B 765432.]

I
1. Cut out the sizer to the right.
2. Wrap the sizer around the widest part of your finger (usually the knuckle).
starting with the square end and wrapping until the tip is flat against your finger.
3. The line closest to the point is the ring size. Numbers indicate whole sizes, lines are half sizes.
When in doubt, move up to the next largest line.

Option 2: Use a current ring
If you have a ring that fits well, place it over the circles below, matching the *inside* edge to the drawing.

If the ring is between sizes, add .25 to the smaller number.



